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C. Setupcommunicator.msi 
D. Setupcommunicator.exe 

Answer: A 

QUESTION: 26 
The Nortel Converged Office solution requires that the Communication Server (CS) 1000E 
is correctly configured with the proper CODEC and payload size. Which CODEC and 
payload size on the CS 1000E in a Nortel Converged Office Solution is required? 

A. G.711/10ms 
B. G.711/20ms 
C. G.711/30ms 
D. G.711/40ms 

Answer: B 

QUESTION: 27 
A Nortel Converged Office user cannot get Remote Call Control to function using his 
Office Communicator 2007 client. After extensive troubleshooting, you decide to run SIP 
traces on the Communication Server 1000E Signaling Server. Which command on the CS 
1000E Signaling Server will display the existing SIP CTI trace settings before you begin to 
capture new traces? 

A. SIPCTIShow 
B. SIPCTISessionShow 
C. SIPCTITraceShow 
D. SIPCTITraceLevel 

Answer: C 

QUESTION: 28 
While on a new Nortel Converge Office deployment, you are preparing to enable the SIP 
CTI services. After enabling the services you perform a SIPCTIShow on the 
Communication Server 1000E signaling server but the service does not show ACTIVE. 
Which corrective action will enable the SIP CTI services? 

A. Reconfigure the VSID and ELAN ID so they are both greater than 32. 
B. Reconfigure the VSID and ELAN ID so they are both less than 32. 
C. Reconfigure the SIP CTI configuration for fewer associations per DN. 
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D. Reconfigure the SIP CTI configuration for more associations per DN. 

Answer: A 

QUESTION: 29
 
A Nortel Converged Office user, in an OCS 2007 Standard Edition deployment, cannot
 
place external calls to the Public Switch Telephony Network. While troubleshooting the
 
problem, you notice that you can ping to and from all OCS 2007 Servers. Which protocol
 
and port provides the communication link between the OCS 2007 Front End Server and the
 
OCS Mediation Server?
 

A. HTTPS, 443
 
B. SIP/TCP, 5060
 
C. DCOM, 135
 
D. SIP/MTLS, 5061
 

Answer: D 

QUESTION: 30
 
Click the Task button.
 

Correctly sequence the SIP signaling messages to initiate a basic Remote Call Control 
(RCC) call from an Office Communicator 2007 client to the Communication Server 1000E. 

Answer: 
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QUESTION: 31 
Nortel Converged Office users report they cannot control their desktop IP telephones using 
the Office Communicator 2007 clients. They can make calls using their desktop IP 
telephone, and they can call other OCS users from their OC clients. Which server is most 
likely out-of-service? 

A. Active Directory Server 
B. Front End Server 
C. Mediation Server 
D. MCM/Application Proxy Server 

Answer: D 

QUESTION: 32 
The IT department of an organization receives a report that Nortel Converged Office users 
cannot hear PSTN callers via their Office Communicator 2007 clients but can hear PSTN 
callers using their desktop IP telephone. On which OCS 2007 server do you turn on 
diagnostic tools to capture audio error messages between the PSTN caller and the OC 2007 
client? 

A. Front End Server 
B. Mediation Server 
C. Application Proxy Server 
D. Signaling Server 

Answer: B 
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